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CHE-5 : ORGANIC CHEMISTRY 

Time : 2 hours 
	

Maximum Marks : 50 

Note : Attempt all the four questions. 

1x2=2 1. 	(a) Write the IUPAC names of any two : 

(i) CH2  = CH — CH — C CH 

CH3  

OH 

(ii) CH3  — CH — CH2  CHO 
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(b) Assign R or S configuration to any one of 
the following : 

1 

H 

(i) HO 

  

CH2  CH3  

  

    

CH3  

NH2  

(ii) Cl 

  

CH3  

  

    

CH2OH 

(c) Assign E or Z configuration to any one of 
the following : 

Cl , 	,OH 
C=C 

(i)  H21\1/  'CH2OH 

H. 	„OCH, 
C=C 

(ii) H3c ' 	
\ '' 
CH3  

(d) Write the structure of 4-amino-3-methoxy 
benzaldehyde. 

1 

1 
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2. 	Attempt any five from the following : 	 2x5 

(a) Why is pyridine more basic than pyrrole ? 

(b) Define chromophores and au xochromes. 

Give one example for each. 

(c) Write two main differences between 

tautomerism and resonance. 

(d) Write the chemical equation to show : 

(i) Wurtz reaction 

(ii) Kolbe's electrolytic method. 

(e) Draw the most stable and the least stable 

conformations of butane and name these 

forms. 

(f) 	Complete the following reactions : 

Reduction 
C2H5  CN 

Hydrolysis 

(g) Compare the acidic natures of alkynes and 

alkynes. 

	

3. 	Attempt any five parts from the following : 	3x5 
(a) Complete the reactions and name these 

reactions : 

(i) C6H5N112  + CHC/3  3KOH 

(ii) C6H5CH3  + Cr03/ (CH3C0)70 

(b) Give an example of a SO reaction. Write 

the steps involved in the reaction 

mechanism. 
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(c) Give the steps and the products of ozonolysis 

of the following : 

H3C — CH = CH — CH = CH2. 

(d) Explain Hiickels rule with two examples. 

(e) Define the following terms : 

(i) Iodine value, 

(ii) Saponification value 

(f) 
	

Name the class of natural products which 

contain an isoprene units. Draw the 

structure of an isoprene unit and give its 

IUPAC name. 

(g) What is TMS ? 

Write the splitting pattern of ethanol in 

NMR spectrum and justify it. 

4. 	Attempt any 5 parts from the following : 

(a) 	Fill in the blanks : 

(i) Nucleophilic substitution in pyridine 

is mainly at 	 position. 

(ii) 1, 2-Ethanediol is commonly known 

as 

(iii) liracil is a base present in 	 

(iv) Ethanol and sulphuric acid at 413 K 

give 	  

(b) Taking a suitable example, write the 

mechanism of aldol condensation. 

4x5 
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(c) Complete the following reaction and write 

the steps involved in it. What is main 

application of this reaction. 

0 

	

II 	Br2 ,Na0H, H2O  CH3CH2  — C — NH2  

(d) How does the reduction of a nitro 

compound proceed ? Write reactions for 

catalytic reduction, reduction in acidic and 

neutral conditions of nitro compounds. 

(e) Write a reaction with mechanism if any two : 

(i) Sandmeyer reaction 

(ii) Diazotization 

(iii) Claisen condensation 

(f) 	Write the two enantiomers of 

(i) tartaric acid 

(ii) How will you achieve the following 

conversion : 

	

Br 	 COOH 

CH3CH COOH CH3CH COOH 

(g) Describe the following terms : 

(i) Soaps and detergents 

(ii) Nucleotide 
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7:11..7.5.1.-s 

N717 k-1 I ch 4%77 

t-1,110 Titan 

2011 

	 f-4717 

: cto cirict) 	 

N177 : 2 ErIT 
	

31fgrx7 3.T.T : 50 

*F' : 	779-77-  WTT 9771 d 	tit q' 	/ 

1. 	Pi,--Iror(gd WiTO if 	 ,114-1 
1x2 = 2 

CH2 = CH - CH - C CH 

CH3 

OH 

(ii) CH3  - CH - CH - CIAO 

~11\r1L : 

(i) 
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(b) 	14 *f 'ft 	Wf R 3-T9-1qT S 	1 

1q4FR figrift'd '41-A7 : 

H 

(i) HO 

  

CH2 CH3 

  

    

CH3 

NH, 

(ii) Cl 	CH3  

CH,OH 

(c) P-1HroR5d 	f 	qch 	OTT-  E 342drz 

	fiqrff-ff .41* : 

1 

(i) H2N/  'CH,OH 

C/ N 	/OH 
C=C  , 

H N 	,OCH3  

(ii) H3C 'C—C N CH3 

(d) 	4 - t=11-9 - 3 - 	'2-T1-4T4 	rcs- 158 	-1(t.1-11 	1 
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2. 	ciW1 14 .4 rT7Ti 	1( 
	

2x5 

(a) 	fER-1 	3#11-T ut-zr 014-11 t ? 

(b) 	to* .  3 	 ')1i 

(c) 

roil; -T• 	-q-l-F7-7 

(c) 	 fiThj-d-rtf 

fc7t7 I 

(d) 14-1R1 (5cf 	oit4 	icit! TRTF-Tfk-  4,14-114,k 

{ift : 

(I) *Tr 

(ii) 	1I 	-17174?:t1 frqfT 

(e) --=t 3TP-1-4;714 4--?-1741 "3-1N 	779-Tit 

	 f7ftfu, 3fR 7,3 '.1t t-114-1 

(f) 	1:14-1Fo 	 d ,31-rTrA ,*;) T•i qC1F3-17 : 

.3Trf-riqi 
C,H5  CN - 

7(7 3-1117473 

(g) TTql9" TffiT 

-1-f-A7 
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3. 	(-114ff 	 q-)1\=1 	 3 x 5 

( a ) 	Tui 	rv,-1 tr 47 37-it 

rA 	 : 

(i) C6H5Ni 	CHCI3  3KOH --) 

(ii) C611,3-C1-13  CrO3/ (CI-  I3C0)20 —> 

(b) 	SN1 31flifWzIT 	') 6ck̀ I'601 	34-fif--*-7r 

3PiTi --qvuff <4, c- 

(c) 	 Ocf 	3-I A -I Rif(-R-1 *I-  tAm 60-11q 3-117 

31-P 	ITT 	-q-rur 	: 

i3c — CH = CH — CH = 

(d) 3clkulf 	 oiltSq 	I 	I 

(e) 	trftIlTrEm 	: 

(i) 	3Trzhti 179; 

(-1►1-11cb(ul 

";11-ff- T 3cy 	a4-chi fr,fc t f914 

37-{:itfti 	61 	 t 	-)  

Nita 	11 	3~Yr 3~i 	hi 	 1-14 q1F31 

(g) 	cl-qT t ?  	#1-4;Til.  

ffftr fayizi .efE-4 -f -ft17 3I) 3d. of,-) -aftz 
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4. 	tic-i 14 .4 	-k371( 	\TR : 
	 4x5 

	

(a) fir T2TT9. 	: 

(i) 	FARill 4 7Tfi-T-  Tkt -51f7T-21717 13.CaM: 

	fT-21fff tr-{lalt l  

(ii) 1, 2-. 0 -g173-1I7 

ci)(11(-11 t I 

(iii) trT{ .1   37FT-Qtd 	 

tl 

(iv) 413 K ITT 749f .  3)-  ter 	c 

 	c-11 t I 

(b) rsbgirarzT 

tf-{g7 I 

(c) cif 	igd 3-111 	IT -14 

for-u71 **-1 3Trif-wzrr 	 3rTiu 

344 	4 Id TTT t? 

0 

CH3CH2 — C — NH2 
Br2 NaOH, H2O  

(d) 	 Affre 4 3Tcrqzr9. f 	w4.)1( 

dc)o-)1 	 3-TIfrq ath utzr 	 

31.51-fr f-4-&71 
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(e) 	 54->qf 	tTrrq 3TriftzufFru7 : 

(i) 
	

-84-11qt 3TriirWM 

5>-11 lcL'I 

(iii) tit 1-1-1 

(f) (i) 	31{t 	d3  

(i1) 	OFOCI (L.NLIIKRUI 	511 ti 	: 

Br 	 COOH 

CH3CH COOH 	COOH 

(g) -1 4-1 	t_l 	 : 

(i) Trr-1-9- 	31-cm-r--4w 

(ii)  
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